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Part I: (Marks:40)

Question No 1-10 : 1 Mark each question. Choose/Write the correct option.

Question No 11-12 : 6 Marks each question, Choose/Write the correct option.

Question No 13-16 : 2 Marks each question. Choose/Write the correct option.
: 10 Marks (1 X 10=10).

Question No 17

1. Person who caters to the rich
A) amorphous B) cynic C) sycophant D) chide

Word formed by changing the order of letters in another word
B) anagram C) pun D) verbatim

o]

A) alliteration
The man who takes hotel guests to their rooms, carries luggage etc.

A) bellhop B) escort C) waiter D) staff

W

4. A collection of flags
A) plumage B) flageolet C) flaglet D) bunting

5. A government through trade union organisations
A) socialism B) fascism C) syndicalism D) Fabianism

6. An important religious ceremony
A) congregation B) sacrament C) sacrilege D) blasphemy

A place where money is coined
A) mint B) press C) treasury D) bank

8. One who is doubtful
A) sceptic B) cynic C) stoic D) sycophant

9. Unexpected but fortunate discovery
A) luck B) serendipity C) surprise D) felicity

Piece of writing full of praise
A) panegyric B) verse C) prose D) verily

11. B is the mother of C who is the sister of G and H only. I is the son of H. D is the father
of E. Among the children of A and B, only 1 is unmarried. G is the uncle of E who is the

10.

sister of F. C has only 2 children.

i. How is G related to B? ;
A) son B) daughter C) son-in-law D) daughter-in-law E) Cannot be determined
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Who is the unmarried child of A and B?
A)CB)GC)HD)E E) Cannot he determined

iii. Who is the mother of F?
A) C B) H C) B D) Cannot be determined E) None of these

7 km east of |

s O t Ais 4 km nest

12. Point A is 10 km south of point B. Point C 15 yoint B, Poin
of point D, Point D is 5 km north of point E.
¢ \ at he takes a

i. A person starts from point E, goes to point F in east direction. After tha ¥

left turn and reaches point C. Find distance DF,
A) 17 km B) V34 km C) 5V31 km D) 7v24 km E) 2V34 km

he goes towards

st of point E. Then /
right

ii. A person starts from point G which is 10 km we ;
north and after taking a right turn he reaches point A, Now he turns to his
and reaches a point T on line EG. Find distance GT.

A) 8 km B) 12 km C) 5 km D) 6 km E) None of these
goes 6 km in north direction. Now he takes a

right turn and moves 7 km. Next he takes a left turn and moves 10 km. Next he
turns right and moves 5 km. Finally he turns right and moves 12 km to reach nis

destination. Find the distance from his starting point.
A) 12 km B) 4V10 km C) 5v5 km D) 6v2 km E) None of these

ii. A person starts from a point and

13, 5% of 220 + 65% of 520 - 15% of 920 = X
A) 299 B) 261 C) 276 D) 223 E) 264

14. Vimal can row a certain distance downstrea
distance in 21 hours. If the speed of the stream is 6 kmph, Fin

the still water?
A) 21 kmph B) 15 kmph C) 30 kmph D) 35 kmph E) None of these
of Raman and Preet is 16 years. If Raman’s age ten ye

15. Difference between ages
hence will be two times the age of Preet, find Raman’s age.

A) 26 B) 19 C) 42 D) 38 E) 46
ns milk and water in t

m in 14 hoursand return the same
d the speed of Vimal in

ars

he ratio 7 : 3. 10 litres of the

16. A mixture of 30 litres contai
on is repeated

mixture is taken out and replaced with pure milk and the same operati
one more time. Find the final ratio of milk to water in the mixture.

A)12:7B)9:4C)13:2D)15:7E)11:5

(1 X 10=10)

17. Write full form of following:
RDO, PPP, PIN, RADAR, RAM

BRIC, EVM, ATM, PSLV, ISRO, D

Part II: (Marks:60
. 2 Marks each question. Choose Write the correct option.

c uestion No 1-10
ion. (4x10=40)

uestion No 11-15 : 10 Marks ach

1. For the high voltage conductors at high pressures, if the voltage is positive then the

corona appears as a
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spots c) Uniform greenish spots

a J ~

a) Uniform bluish white sheath b) Reddish glowing

d) None of these
= :
2. The most ¢ > i

o Bel ost commonly used insulating materials for low and medium voltage cables is

a) Folyethylene b) Porcelain c¢) PVC d) Vuleanized rubber i
DN\ is t

q\<h$t IS the purpose of bedding on the underground cables?

) akaage “Urr T |
é 0 avoid leakage of current. b) To protect the sheath against corrosion.

€) To protect the sheath from mechanical injury due to armouring.
d) Both (b) and (¢)
4. Why are the inter sheaths in cables used?

a) Provides proper stress distribution

b) Minimises the stress
¢) Provides protection against moisture, current and voltage surges

d) To improve the insulation

5. The most suitable location for the power factor improvement device is
a) Near the electrical appliance which is responsible for the poor power factor.

b) At the sending end.
C) At the receiving end in case of transmission lines.

d) Both (a) and (c).
e) None of the above

6. Flat rate tariff is charged on what basis?
a) Connected load. b) Units consumed. c) Maximum demand. d) All of these

e) None of these

7. A variable charge is based on what?
a) Energy consumption b) Maximum demand c) Peak load demand d) All of the above

8. What is demand factor?
a) Average load to maximum demand. b) Maximum demand to connected load.
c) Connected load to maximum demand. d) Maximum demand to average load.

9. The two wattmeters used for the measurement of power input read 50 kW each. What
will be the readings of the two wattmeters if the power factor is changed to 0.8 leading

keeping the total input power same?
a) 28.35W, 71.65W b)31.25W, 73.71W ¢)33.33W, 73.33W d)38.35W, 75.5W

With gate open, the maximum anode current at which SCR is turned off from ON

10.
condition is called ‘
a) breakdown voltage b) peak reverse voltage c) holding current d) latching current

Attempt any 4 questions from Question No 11-15: (4x10=40) :
Define the principle of single-phase Transformer with its equivalent circuit diagram.

11
Explain open circuit test & short circuit of Transformer with circuit diagram. :
Define working principle & construction of Electrical DC machine. Draw and explain

1.2,
speed torque characteristics of different type of DC motor?
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13. Write short note on following:

a. Superposition Theorem

b. Norton Theorem

c. Ampere’s Circuital Law

d. Delta-Star transformation Theorem

14. Solve the following questions.

a. Find the current flowing through the RLC circuit connected through an AC source of
240 V as given below. The values of R = 100 Ohm, L = 100 mH and C = 100 pF.
(Assume frequency of source to be 50 Hz)

WYY ,‘\
R

L 2

AR
{ ;,)
Vmﬁgifn(wl)

b. A 40KVA single phase transformer has 400 turns on primary and 100 turns on secondary

the primary is connected to 200V, 50Hz supply, Determine .
1) The secondary voltage on open circuit. 2) The current flowing through the two

windings on full load. 3) The maximum value of flux.

15. Define basic structure of IGBT, draw equivalent circuit & explain its working.

> 5k >k kK K
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NI 1 (37%: 40)

o WA HEA1-10 : VAF W & A 1 3 ¥ aft Reer g4/ ford
o W HEAT11-12 ; UelE N & A 6 3 | Reew g /ford|
o WX HEAT13-16: TAF WA & A0 2 3% | 7 ey g4/ )|

o WFAFEAI17 :10 3% (1 X 10)= 10)|

W FEdr 1-10 § v wgash & wea o7 2@ |

11.B, C# A1aT § St &aer G 3R H 1 a5t &1 1, H &1 97 €1 D, E &7 fam &1 A 3R B &7 &amr 7 &
Fad 1 HfAafgd &1 G, E &7 9 § ST F &1 g7 &1 C & ad 2 9= 81

i. G, B ¥ 5y ysR gafad g2
v)aaa)aa@ma)agé)mﬁaaﬁﬁwmm

i A 3R B & SRR o e 2
A)CB)GC)HD)E E)f@eifRa 7€t fomar S Fehar

jii. F & AT i 82
A) C B) H C) B D) faeifa wi¢l faram ST &bl § E) 38 & &1S 381

12. faig A, g B & 10 foreft aferor ¥ 81 foig C, Rig B 7 ot q@ # 81 foig A, fig D & 4 faatt
ofeas # g1 fag D, fdg E & 5 frell 3R A 81

I U cafed fig E & UE FYT §, qa &R0 & fig F o¥ i1l 81 38 a7 98 91 A3 ¢ 3K fag

C 9 9g el §1 g¥f DF 21d HifSw
w) 17 fRaTdr) 34 fRar @) 5v31 e 1) 7v24 fhelr §) 2v34 forelt

ii. e cafFd fig G § ® @ar ¢ o faig E & 10 T ofest # 81 f ag 3 6 3R S ©
3R 24 73 & are fdg A 0 UgadT §1 379 @8 39 a1 3R HsT & AR 3@ EG WU fag T
9 ggadr g1 gdr Shér @St
©) 8 foraty ) 12 forafr 30r) 5 et 1) 6 foRal §) 3ot @ g
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14.

1.5:

16.

TR

oot FEar ¥ 3t

B e gg @

iii. U cafdd va faig @ worr E weh ¥ AT 3L e i 6 fapafy reretm
7 el Torar ¥ g arg ag ard agen ¥ A 10 Ry wrer ¥ fone ag g A ?

TAT ¥ 3 7 ag ary Hyal W At 3t aferen aa g & far 12 fapaty aeren ¥ acy

HRAE &g & gl i HfSwl
) 12 Rl &) 4v10 Rl d) 5v5 faf 4) 6v2 fl §) aaldf B AN e

. 220 &1 5% + 520 &1 65% - 920 &1 15% = X

7) 299 &) 261 ¥Y) 276 &) 223 §) 264

faarer 4R & Heldhol Uas fATRHT gl ' 14 € 7 U A daar ¥ i sy 8 &y 21 G A aTTH
FT THaT &1 afy ary H afy 6 e ufe wer &, o e arer 7 fawrer #r afer Fe FfA0?
) 21 frel ufy | &) 15 Rl wfey v @) 30 fhsdr gfa w4y 35 e ofdy 62 &) ZaH A COCA

QT
e 3R v B 3T % FE 1 e 16 A 1 AR e o are A 1 317 er v A 1 GIAT

&) SITEeh, At WA N Y AT AT
7) 26 &) 19 @) 42 §) 38 §) 46

30 drex & fHHoT # gy 3R a1 & e 7 ¢ 3 10 drex fAHoT & fdTer T et gu |
ST T AT & 3R € BT U A 3R e Sl ¢ fRrsror 3 gy AT Tt T A A

<1 $ifaw) ) 12: 7 &) 9: 4 €r) 13: 2 27) 15: 7%y 115

e 17 F AT ygash &1 w97 & |

g1mar 11 (37%: 60)
g &A1 1-10 . e et & fRr 2 i) T Rrew et/ ford |

o e 11-15: 9% weat & fAT 10 3i%1(4%10=40)

mmwm&ﬁﬁﬂ%ﬁvwﬁaﬁﬁaw%
g)mﬂmmmmb)mmaﬁmc)wwa’m@

d) =78 & P15 e
mmmwmmﬁmmmmﬁmmﬂmmﬁ
1) areiref d) el AT &) i g) dehalzos 168

2 FRT ¥ T 3 T Al &

memmmmmwh
a) Fie ¥ frad 4 a9 & vl b)m$mﬁmﬁ¢w$m|
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D A () 3 (any

mﬁr%aaf‘rirmmmmm%,

3) 3T T Raeror vt awer &

b) aﬂmﬁmm%

Q) TN, e AR Areest Tl & GBI FeTet HI &
d) FegaRNET & JUR & & e

5. 9rav therey GUR 3ueUT & AT Had I A ¢
a) fasTel & IYauT & I it W gTal theex & fow fSesier &)
b) =1 & BR A

C) TIATAR sl & AHS & 9red HT drel BR T
d) 2=t (T) 3R (@)1

e) 3 A I 3 AgT

6. wie I ¢NE R MUR 9¥ ageT ST &7
a) o HR| b) @ad & & sFEAT| ) HfeEHIA ATl d) T T
3AH @ IS e

7. oRadt 3mder fre ov 3menfid grdr &2
a)mmb)mﬂﬂmc)maﬂgmq_)mw

8. HIIT HRE FAT g7
a)mm/mm@mm/mm
c)@m/mm d) 3faaa ATl /3ET #R

9, fasTell e % G & fAIT 3w R Y AY & FEAIC T 50 KW e 1 A Fef I
wﬁmwﬁg&rmmm’ro.s leading & aaa fzm ST ar 2 aresfey Fr e

grfr?
a) 28.35W, 71.65W b)31.25W, 73.71W €)33.33W, 73.33W d)38.35W, 75.5W

1o.ﬂzanwaﬁw,aﬁmmaﬁzmqsmﬁm HEeA U §¢ FHaT FTdT §, FEAA ©
2) JHs3 dlect b) die Rad dreest ¢) 88 HIT d) dfer Fe
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13, o w st el

a. YU W :
b. @AIeE WAA
¢, URR & afay fae :
d. ¥-RR ufadd s :
14, Pr=rfafla wed! ® g M
a. 240va:Acma#:ggRLcmu#qammmﬂmm%mﬂmw%lR=100
3, L = 100 mH 3R € = 100 pF & #l (maﬁrarrqﬁrsoﬁsrmé)
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